

Sales Tax Exemption

The Texas A&M Health Science Center is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Texas A&M Health Science Center.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order						
Purchase Order Date	PO/Reference No.	Revision No.				
Oct 12, 2022	AB0755322	0				

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

-						
Buyer	Buyer Email	Buyer Phone Number				
sak - King, Susan	sa-king@tamu.edu	979.845.3888				
Customer Contact:						
Name:	TAMU HSC ORDERI	TAMU HSC ORDERING DEPT 23-4300				
Email:	tamu-it-health-purchasing@tamu.edu					
Phone:						

Order acceptance instructions:

For Order Acceptance Instructions applicable to this PO, see the "Notes to Supplier" section below.

Sup	plier Information	Delivery Information				
Supplier Name	CCS PRESENTATION BUCKEYE TECHNOLOGY SOLUTIONS DBA	Delivery Address TAMUS Member:	23-Texas A&M Health Science Center (23)			
Address	20212 HEMPSTEAD RD BLDG 1 HOUSTON, Texas 77065 United States	Attn: HSC Office of IT	Gene Price			
Phone	+1 713-892-5850	Suite	528			
FOB / FREIGHT	Destination	3302 Gaston Ave				
Pre-Pay & Add	No	Dallas, TX 75246				
Payment Terms	0, Net 30	United States				
Contract Number - Header	C20201409	Delivery Information				
Contract Number - Line	no value	Required Delivery Date				
Quote number	Q-2096	Ship Via	Best Carrier-Best Way			

Notes to Supplier

Shipping Instructions

Note to Supplier REF: Proposal # Q-2096. REF: TAMU MO C20201409.

Attached PAR requirements are included as part of this purchase.

Attachments for supplier

Vendor HSP PO Lan... Updated quote Q-2096

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or han dling charges will be accepted.
	100	Order Acceptance Instructions - TAMU	Vendor guarantees that the products delivered, or the services performed, as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services in writing prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas

IVI		Γαλ	
		and Texas A&M's Terms & Conditions (the version that is effective as of the Purc hase Order Date or the Revision Date spe cified above, whichever is later), which are incorporated into and made a material part of any Purchase Order issued by Texas A&M.	
102	Terms & Conditions - TAMU	Terms & Conditions - Texas A&M Universit y -This purchase order is issued on beha If of Texas A&M University and is govern ed by the Terms & Conditions found onlin e: http://purchasing.tamu.edu/_media/tamu-b id-terms1.pdf	
113	FOB-DEST/FRT- PP&ALLOW	FOB Destination, Freight Prepaid and All owed	
210	Product Installation	To be installed. Installation to include receiving, unpacking, assembly and plac ement at point of use and removal and di sposal of all packing material. Universi ty dumpsters may not be used for disposa l.	
212	Cancellation	This agreement is subject to cancellatio n, without penalty, either in whole or i n part, if funds are not appropriated by the Texas Legislature, or otherwise not made available to the using agency.	
238	Institution of Higher Education Purchase	Purchases made by an Institution of High er Education, Section 51.9335 Education Code	

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price	Discount
1 of 66	Panasonic 10,000 Lumens, Laser, WUXGA Resolution (1,920 x 1,200), DLP Projector, No Lens, Black	PT-RZ970LBU	EA	15,428.00 USD	1 EA	15,428.00 USD	-1,001.72 USD
		ı					
2 of 66	Panasonic1.3–1.9:1, zoom, WUXGA (16:10 aspect ratio) / 1.3–2.0:1, zoom, XGA (4:3 aspect ratio) / 1.4–2.0:1, zoom, WXGA (16:10 aspect ratio)	ET-DLE150	EA	2,520.00 USD	1 EA	2,520.00 USD	-163.62 USD
		I					
3 of 66	Chief VCM76P, INCL CUSTOM HB76P, BLK	VCM76P	EA	449.92 USD	1 EA	449.92 USD	-29.21 USD
		I	'				
4 of 66	Owner Provided Equipment OFE Dell Computer Dell 7080 SFF	OWNER FURNISHED	EA	0.00 USD	1 EA	0.00 USD	0.00 USD
		I	'	'		'	
5 of 66	WACOM 24" TOUCH TABLET	DTK2451	EA	1,512.00 USD	1 EA	1,512.00 USD	-98.17 USD
		ı					
6 of 66	Mersive Solstice Pod Gen3 with perpetual Small Group Edition Enterprisesoftware license (4 simultaneous users) and 3 years Solstice Subscription to softwareupdates and support (power supply and HDMI cable sold separately)	SP-8100-E3	EA	1,455.07 USD	1 EA	1,455.07 USD	-94.48 USD
		T T					

)/12/22, 7:4	43 AM	Fax					
7 of 66	Mersive Power supply for the Solstice Pod Gen3 console including international plug adpators	SP-8301-E	EA	23.99 USD	1 EA	23.99 USD	-1.56 USD
8 of 66	Mersive HDMI cable - 3 FT	SP-8302-E	EA	6.65 USD	1 EA	6.65 USD	-0.43 USD
		ı					
9 of 66	Magewell USB Capture HDMI (Gen 2) USB 2.0/3.0 DONGLE, 1-channel HDMI. Plug and Play. Windows/Linux/Mac.	XI100DUSBHDMI	EA	298.67 USD	1 EA	298.67 USD	-19.39 USD
	Replaces p/n 32011	1					
10 (((V. LI'. B. L. GUOT 125 G. LINIK LIDMI GVG	000 00000 100	F.A.	5 200 12	2.54	10 600 26	600.27
10 of 66	Vaddio RoboSHOT 12E OneLINK HDMI SYS	999-99600-100	EA	5,300.13 USD	2 EA	10,600.26 USD	-688.27 USD
		'					
11 of 66	AV Pro Edge HDBaseT (CAT6) Extender Kit. ICT 18G, 70m 4K (100mHD) Slim Extender with I-Pass, Bi-Directional Power, RS232, IR and Ethernet. ICT for fullHDR/HDMI Pass-Through. Full HDR, 4K60 4:4:4. Features Long Range mode for 150m 1080P transmission	AC-EX70-444-KIT	EA	665.33 USD	4 EA	2,661.32 USD	-172.80 USD
		ı					
12 of 66	AMX DVX 8 x 4+2 All-In-One Presentation Switcher	DVX-3266-4K	EA	6,660.00 USD	1 EA	6,660.00 USD	-432.43 USD
		ı					
13 of 66	Cisco WEBEX CODEC PRO STAND ALONE CLDS CODEC PRO GPL	CS-CODECPRO- K9	EA	19,473.33 USD	1 EA	19,473.33 USD	-1,264.39 USD
		1					
14 of 66	Cisco CCW ONLY WEBEX CODEC PRO - SVCS STAND ALONECODEC PRO GPL SNTC 8X5	CON- SNTCS6KK9CO	EA	2,833.33 USD	1 EA	2,833.33 USD	-183.97 USD
	ALGORIZED THE GIZENINE GIS	Sittesolitises		035		032	- 032
15 of 66	Cisco ROOM KIT PRO MULTISITE LICS ELECTRONIC DELIVERY	L-KITPROMS	EA	4,300.00 USD	1 EA	4,300.00 USD	-279.20 USD
	DELIVERT	1		03D		03D	030
16 of 66	Cisco Remote monitoring option for Room Kit systems	L-KIT-RM	EA	95.81	1 EA	95.81	-6.22
		1		USD		USD	USD
17 of 66	Shure Desktop base mounts gooseneck mic	A412B	EA	65.33 USD	1 EA	65.33 USD	-4.24 USD
		ı					
18 of 66	Listen Technologies Listen iDSP Prime Level II Stationary RF System (72MHz)	LS-54-072	EA	1,658.67 USD	1 EA	1,658.67 USD	-107.70 USD
		ı					
19 of 66	Biamp Systems Tesira Configurable I/O DSP with up to 48 channels ofI/O, 1 DSP-2 card (2 additional DSP-2 cards can be added), and 1 AVB-1 network card	Biamp Systems Tesira	EA	5,400.00 USD	1 EA	5,400.00 USD	-350.62 USD
		I		<u>'</u>			
20 of 66	Biamp Systems Tesira 4 channel mic/line input card with AEC	SEC-4	EA	546.67 USD	7 EA	3,826.69 USD	-248.46 USD

USD			T .			
23 of 66 Biamp Systems Tesira Tesira DSP card with two DSPs DSP-2 EA 626.67 2 EA 1.253.34 USD USD 24 of 66 Biamp Systems Tesira 64x64 Dante™ module DAN-1 EA 1,100.00 1 EA 1,100.00 USD USD USD USD 25 of 66 Biamp Systems Tesira PoE AVB/USB expander with EX-UBT EA 513.33 1 EA 513.33 USD USD 26 of 66 Biamp Systems Tesira For AVB expansion device CONNECT TC-5 EA 900.00 1 EA 900.00 USD	of 66	Biamp Systems Tesira 4 channel mic/line input card	SIC-4	EA	2 EA	-35.49 USD
23 of 66 Blamp Systems Tesira Tesira DSP card with two DSPs DSP-2 EA 626.67 2 EA 1.253.34 USD USD USD 24 of 66 Blamp Systems Tesira 64x64 Dante™ module DAN-1 EA 1,100.00 USD			'			
USD	of 66	Biamp Systems Tesira 4 channel mic/line output card	SOC-4	EA	2 EA	-31.17 USD
USD			ı			
24 of 66 Biamp Systems Tesira 64x64 Dante™ module DAN-1 EA 1,100.00 USD 1 EA 1,100.	of 66	Biamp Systems Tesira Tesira DSP card with two DSPs	DSP-2	EA	2 EA	-81.38 USD
USD			'			
25 of 66 Biamp Systems Tesira PoE AVB/USB expander with Bluetooth® wirelesstechnology 26 of 66 Biamp Systems Tesira 5-port AVB expansion device CONNECT TC-5 EA 900.00 1 EA 900.00 USD 27 of 66 Crown DCI4x300DA DCI4x300D EA 2,187.85 USD 28 of 66 Audix MIC, TRI-ELEMENT, WHT, SOLUTION, DN M3WDK EA 1,799.00 USD 29 of 66 Shure Dual Digital Wireless Receiver with internal power supply, 1/2Wave Antenna and Rack Mounting Hardware ULXD4D=-G50 EA 2,788.00 USD 30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature ULXD1=-G50 EA 490.67 USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD 13 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD 14 EA 120.00 USD 15 EA 120.00 USD 16 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	of 66	Biamp Systems Tesira 64x64 Dante™ module	DAN-1	EA	1 EA	-71.42 USD
Bluetooth			'			
27 of 66 Crown DCI4x300DA			EX-UBT	EA	1 EA	-33.33 USD
USD			l			
28 of 66	of 66	Biamp Systems Tesira 5-port AVB expansion device	CONNECT TC-5	EA	1 EA	-58.44 USD
28 of 66			ı			
29 of 66 Shure Dual Digital Wireless Receiver with internal power supply, 1/2Wave Antenna and Rack Mounting Hardware 30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature 4-PinConnector USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	of 66	Crown DCI4x300DA	DCi4x300D	EA	1 EA	-142.06 USD
29 of 66 Shure Dual Digital Wireless Receiver with internal power supply, 1/2Wave Antenna and Rack Mounting Hardware 30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature 4-PinConnector USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33			ı			
29 of 66 Shure Dual Digital Wireless Receiver with internal power supply, 1/2Wave Antenna and Rack Mounting Hardware 30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature 4-PinConnector USD USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	of 66	Audix MIC, TRI-ELEMENT, WHT, SOLUTION, DN	M3WDK	EA	8 EA	-934.46 USD
supply, 1/2Wave Antenna and Rack Mounting Hardware 30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD 1 EA 220.00 USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature 4-PinConnector Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD 1 EA 490.67 USD 1 EA 490.67 USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone			ı			
30 of 66 Shure Gooseneck, 24" with cardioid MX424/C EA 220.00 USD USD 31 of 66 Shure Digital Wireless Bodypack Transmitter with Miniature ULXD1=-G50 EA 490.67 USD USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33			ULXD4D=-G50	EA	1 EA	-181.02 USD
Shure Digital Wireless Bodypack Transmitter with Miniature ULXD1=-G50 EA 490.67 USD			l			
4-PinConnector USD USD USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD USD USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	of 66	Shure Gooseneck, 24" with cardioid	MX424/C	EA	1 EA	-14.28 USD
4-PinConnector USD USD 32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33			I			
32 of 66 Shure Microflex® Cardioid Lavalier Microphone WL185 EA 120.00 USD USD 33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	II.		ULXD1=-G50	EA	1 EA	-31.86 USD
33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33			ı			
33 of 66 Shure Handheld Transmitter with SM58® Microphone SM58 EA 525.33 1 EA 525.33	of 66	Shure Microflex® Cardioid Lavalier Microphone	WL185	EA	1 EA	-7.79 USD
			ı			
	of 66	Shure Handheld Transmitter with SM58® Microphone	SM58	EA	1 EA	-34.11 USD
			1			
34 of 66 Shure Dual Docking Charger with PS45US Power Supply SBC200-US EA 245.33 1 EA 245.33 USD USD	of 66	Shure Dual Docking Charger with PS45US Power Supply	SBC200-US	EA	1 EA	-15.93 USD
			1			

)/12/22, 7:4	43 AM	Fax					
35 of 66	JBL Professional PREMIUM HIGH-CEILING COAX w/ 6.5"	CONTROL 47HC	EA	301.35 USD	16 EA	4,821.60 USD	-313.06 USD
36 of 66	AMX Secure Table Mount Kit for the 10.1" Modero S Series Tabletop Touch Panel securely mounts panel to a table top via a mounting plate and/or Kensington lock attachment: Compatible with MXD-430 (FG5968-15)	MSA-STMK-10	EA	224.96 USD	1 EA	224.96 USD	-14.61 USD
		I					
37 of 66	AMX EXB-COM2	EXB-COM2	EA	532.80 USD	1 EA	532.80 USD	-34.59 USD
38 of 66	AMX 10" Modero Tabletop Touch Panel MT-1002,10" Modero TabletopTouch Panel	MT-1002	EA	1,456.00 USD	1 EA	1,456.00 USD	-94.54 USD
39 of 66	Netgear M4250-26G4XF-POE+ MANAGED SWITCH	GSM4230PX- 100NAS	EA	1,833.33 USD	1 EA	1,833.33 USD	-119.04 USD
		'					
40 of 66	Inogeni TOGGLE USB 3.0 Switcher Connect three USB 3.0 devices and share them between two hosts. Easily route your camera and audio devices to your BYOD laptop in your conference room.	N/A	EA	532.00 USD	1 EA	532.00 USD	-34.54 USD
		I					
41 of 66	Exact Furniture CUSTOM HEIGHT ADJUSTABLE TEACHING STATION 30X63	MPD30EA-TX-15-	EA	3,366.00 USD	1 EA	3,366.00 USD	-218.55 USD
		I					
42 of 66	Chief K1 DESK MNT SINGLE DISPLAY 2L ARM BLK	K1D120B	EA	231.04 USD	1 EA	231.04 USD	-15.00 USD
		I					
43 of 66	Middle Atlantic CUSTOM RACK SHELF FOR DELL PC	RSH4A3M 9020	EA	120.83 USD	1 EA	120.83 USD	-7.85 USD
		I					
44 of 66	Vaddio DUAL 1/2 RACK MOUNTING KIT	998-6000-006	EA	116.61 USD	1 EA	116.61 USD	-7.57 USD
		ı					
45 of 66	COVID Shielded, Cat 6a, Blue Jacket, Plenum, 1,000' Reel	P-C6AF-BLU-1KR	EA	652.39 USD	3 EA	1,957.17 USD	-127.08 USD
		I					
46 of 66	COVID HDMI 2.0 Cable, Premium Certified, 3ft	HDPR-03	EA	9.92 USD	4 EA	39.68 USD	-2.58 USD
		I		'			
47 of 66	COVID HDMI 2.0 Cable, Premium Certified, 6ft	HDMI 2.0 Cable, Premium Certif	EA	11.13 USD	12 EA	133.56 USD	-8.67 USD
		ı		'			

49 of 66	COVID HDMI 2.0 Cable, Premium Certified, 15ft	HDPR-15	EA	16.17	2 EA	32.34	-2.10
15 01 00	COVID TIBINI 2.0 caste, Fremain certifica, 1510	115111113	271	USD	2 5 (USD	USD
		l					
50 of 66	COVID DVI-D To HDMI Cable, 6ft	VP-DVI-HD-06	EA	9.99 USD	4 EA	39.96	-2.59
30 01 00	covid by a templification, one	VI 2VI II 00	271	3.33 032		USD	USD
		l					
51 of 66	COVID DVI-D To HDMI Cable, 3ft	VP-DVI-HD-03	EA	9.36 USD	2 EA	18.72	-1.22
						USD	USD
52 of 66	COVID USB 3.0 Cable, A Male to B Male, 6ft	USB3-AB-06	EA	7.13 USD	6 EA	42.78	-2.78
		ı				USD	USD
53 of 66	COVID USB 3.0 Cable, A Male to A Male, 6ft	USB3-AA-06	EA	6.83 USD	3 EA	20.49 USD	-1.33 USD
		1					
54 of 66	CCS Miscellaneous Hardware, Connectors and Cable	MISCELLANEOUS	EA	2,666.67	1 EA	2,666.67	-173.14
J-7 01 00	ces miscenaneous riardware, connectors and capie		LA	USD	ILA	USD	USD
		l l					
55 of 66	CCS Commercial Equipment Lift Rental	Equipment Rental	EA	1,000.00	1 EA	1,000.00	-64.93
		1		USD		USD	USD
56 of 66	Exact Furniture Flip up side shelf	SH-SIDE	EA	186.00	1 EA	186.00	-12.08
		1		USD		USD	USD
F7 (C C	S VP 144 15 51 1 1 1 P	CV 1115 DT		075.00	2.54	1 751 20	112.7/
57 of 66	SurgeX Rack Mount Surge Eliminator and Power Conditioner w/Remote,1RU	SX-1115-RT	EA	875.60 USD	2 EA	1,751.20 USD	-113.70 USD
		l					
58 of 66	SurgeX Online / Double Conversion UPS, 1000VA, 2RU	UPS-1000-OL	EA	1,632.40	1 EA	1,632.40	-105.99
				USD		USD	USD
		,					
59 of 66	Middle Atlantic 2SP VENTED UTILITY SHELF	U2V	EA	58.20	2 EA	116.40	-7.56
		1		USD		USD	USD
60 of 66	Middle Atlantic PD THIN1-15A CIR10 0UT	PDT-1015C-NS	EA	138.00 USD	1 EA	138.00 USD	-8.96 USD
		1		030		03D	03D
						T	
61 of 66	CCS Annual System Coverage Onsite - 2 Years	CCS-MAX-A2	EA	4,266.67 USD	2 EA	8,533.34 USD	-554.06 USD
		1				1	1
62 of 66	CCS SHIPPING AND HANDLING	SHIPPING	EA	6,280.00	1 EA	6,280.00	-407.76
3. 30				USD		USD	USD
		ı					
63 of 66	LABOR TOTAL	N/A	EA	33,678.00	1 EA	33,678.00	-2,186.6

Ji 12/22, 1	70 7 UVI	I ux					
				USD		USD	USD
		I					
64 of 66	Planar Quote TVF Complete v3, Full HD 164in Diagonal Video Wall, w/ VCcontroller, wall mount, trim, cables and 8 Spare Modules	48262-1	EA	93,438.67 USD	1 EA	93,438.67 USD	-6,066.90 USD
65 of 66	Planar Onsite Installation Management and Commissioning	Planar On-Site	EA	7,640.00 USD	1 EA	7,640.00 USD	-496.06 USD
		l I					
66 of 66	PLANAR VIDEO WALL LABOR	N/A	EA	5,728.00 USD	1 EA	5,728.00 USD	-371.91 USD
		I					
				Subt	otal	283,35	3.09
				Disco	ount	-18,39	97.90
				Total		264,95	5.19 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in	Texas A&M Health Science
the bill to address. If the invoice is sent via email, please do not send a	Center-EDM
duplicate copy through the mail. Only if email is not an option then submit	***Do Not Mail Invoices***
invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the	Email invoices to tamu.invoices@edmgroup.com
supplier portal, e-mail vendorhelp@tamu.edu.	750 Agronomy Road Suite 3101
	College Station, TX 77843-6000
Invoice must include the PO/Reference number shown above.	United States